
𝑥1 𝑥2

𝑐𝑜𝑠𝑡 = 𝑜𝑢𝑡 − 𝑦 2

𝑜𝑢𝑡

𝑊(1,1,1) 𝑊(1,2,1)

𝑏(1,1)

𝑜𝑢𝑡 = 𝑏(1,1) +𝑊(1,1,1)𝑥1 +𝑊(1,2,1)𝑥2



𝑥1 𝑥2

𝑐𝑜𝑠𝑡 = 𝑜𝑢𝑡 − 𝑦 2

𝑜𝑢𝑡

𝑊(1,1,1) 𝑊(1,2,1)𝑊 1,0,1 =𝑏(1,1)

𝑥0 = 1

𝑜𝑢𝑡 = 𝑏(1,1) +𝑊(1,1,1)𝑥1 +𝑊(1,2,1)𝑥2
= 𝑊(1,0,1)𝑥0 +𝑊(1,1,1)𝑥1 +𝑊(1,2,1)𝑥2

=෍

𝑖

𝑊(1,𝑖,1)𝑥𝑖



Total Cost

• 𝑐𝑜𝑠𝑡𝑡𝑜𝑡𝑎𝑙 = σ𝑖 𝑐𝑜𝑠𝑡(𝑜𝑢𝑡
𝑖 − 𝑦 𝑖 )

=෍

𝑖

𝑜𝑢𝑡 𝑖 − 𝑦 𝑖 2

=෍

𝑖

(෍

𝑗

𝑊(1,𝑗,1)𝑥𝑗
(𝑖)
− 𝑦 𝑖 )2

•
𝜕𝑐𝑜𝑠𝑡𝑡𝑜𝑡𝑎𝑙

𝜕𝑊(1,𝑗,1) =

σ𝑖 2𝑥𝑗
(𝑖)
(σ𝑗 𝑊

(1,𝑗,1)𝑥𝑗
(𝑖)
− 𝑦(𝑖)) =

2෍

𝑖

𝑥𝑗
𝑖
(𝑊𝑇𝑥 𝑖 − 𝑦 𝑖 )

𝑥1 𝑥2

𝑐𝑜𝑠𝑡 = 𝑜𝑢𝑡 − 𝑦 2

𝑜𝑢𝑡

𝑊(1,1,1) 𝑊(1,2,1)𝑏(1,1)

𝑥0 = 1

Note: for the identity activation 

function, 
𝜕𝑜𝑢𝑡

𝜕𝑠𝑢𝑚
= 1 since 𝑜𝑢𝑡 = 𝑠𝑢𝑚



•
𝜕𝑐𝑜𝑠𝑡𝑡𝑜𝑡𝑎𝑙

𝜕𝑊(1,𝑗,1) = σ𝑖 2𝑥𝑗
𝑖
(𝑊𝑇𝑥(𝑖) − 𝑦(𝑖))

•
𝜕𝑐𝑜𝑠𝑡𝑡𝑜𝑡𝑎𝑙

𝜕𝑊(1,∗,1) =

2𝑠𝑢𝑚

𝑥1
1
(𝑊𝑇𝑥(1) − 𝑦 1 ) … 𝑥𝑗

𝑖
(𝑊𝑇𝑥(𝑖) − 𝑦 𝑖 )

… … …

𝑥𝑗
1
(𝑊𝑇 𝑥(1) − 𝑦 1 ) … 𝑥𝑗

𝑖
(𝑊𝑇𝑥𝑗

𝑖
− 𝑦 𝑖 )

⋯

⋮ ⋱ ⋮
⋯

, 1



• 2𝑠𝑢𝑚

𝑥1
1
(𝑊𝑇𝑥(1) − 𝑦 1 ) … 𝑥1

𝑖
(𝑊𝑇𝑥(𝑖) − 𝑦 𝑖 )

… … …

𝑥𝑗
1
(𝑊𝑇𝑥(1) − 𝑦 1 ) … 𝑥𝑗

𝑖
(𝑊𝑇𝑥(𝑖) − 𝑦 𝑖 )

⋯

⋮ ⋱ ⋮
⋯

, 1

= 2𝑠𝑢𝑚

(𝑊𝑇𝑥(1) − 𝑦 1 ) … (𝑊𝑇𝑥(𝑖) − 𝑦 𝑖 )
… … …

(𝑊𝑇𝑥(1) − 𝑦 1 ) … 𝑊𝑇𝑥(𝑖) − 𝑦 𝑖 )
⋯

⋮ ⋱ ⋮
⋯

∗

𝑥1
1 … 𝑥𝑗

𝑖

… … …

𝑥1
1 … 𝑥𝑗

𝑖
⋯

⋮ ⋱ ⋮
⋯

, 1

= 𝑠𝑢𝑚((𝑊𝑇𝑥 − 𝑦) ∗

𝑥1
1

𝑥1
2

𝑥1
3

𝑥2
1

𝑥2
2

…
… … …

⋯

⋮ ⋱ ⋮
⋯

, 1)



𝜕𝑐𝑜𝑠𝑡𝑡𝑜𝑡𝑎𝑙
𝜕𝑊(1,𝑗,1)

=෍

𝑖

2𝑥𝑗
𝑖
(𝑊𝑇𝑥(𝑖) − 𝑦(𝑖))

𝑥 =

𝑥1
1

𝑥1
2

𝑥1
3

𝑥2
1

𝑥2
2

…
… … …

⋯

⋮ ⋱ ⋮
⋯

, (𝑊𝑇𝑥 − 𝑦) =

𝑊𝑇𝑥(1) − 𝑦 1

…
𝑊𝑇𝑥(𝑖) − 𝑦 𝑖

…

𝜕𝑐𝑜𝑠𝑡𝑡𝑜𝑡𝑎𝑙
𝜕𝑊(1,𝑗,1)

= 𝑥(𝑊𝑇𝑥 − 𝑦)


